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HERTH AERE B B R R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
ABRATRAR |EFRKR ABIEBAH () 30 31 30 31 31 30 31 30 31 31 27 31
I E B (BRE)| 713| 736 | 715| 736 | 734| 712| 736| 709| 735| 734| 658 733
AFEyE (ppm) 04| 03| 03| 03| 02| 03| 03| 04| 04| 05| 04| 04
8EFfEE A 20ppmZ iR 2 =B 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA 10ppmZEEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 1.1 038 0.6 0.8 05 0.6 1.0 1.4 1.3 14 15 16
BEHBEORSE (ppm) 06 06 04| 05 03 04| 05 0.9 0.6 0.7 0.8 0.7
O™ E=ZRER (87) AREBH q=)) 30 31 30 31 15 29 31 30 31 31 28 30
7 B (BERA)| 719 741 | 715| 741 | 391 | 694 739| 718| 742| 741 | 669 | 733
AFE (ppm) 04| 03 0.3 0.3 0.2 0.3 0.3 04| 04| 05 04| 04
8EF M fEAY20ppmZ iR R 7= [EI%K (B 0 0 0 0 0 0 0 0 0 0 0 0
BEHEA 100pmEEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 10| 08| 07 0.7 06 08 11 16 2.0 18 13 18
BEMEORSIE (ppm) 0.6 0.6 04| 05 0.3 05 05 0.9 0.7 0.9 0.6 0.7
EEIT R H AMAEBAH (/) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B R (BsRE)| 715 738 | 715| 737 | 739 | 714| 738 | 715| 732| 728| 666 | 739
AEHE (ppm) 03| 03| 02| 03| 02| 02| 03| 04| 04| 04| 04 04
8EFREEA 20ppmZE HE Z 1= [EI%K q=) 0 0 0 0 0 0 0 0 0 0 0 0
BEHEHI10ppmE B A=A (B 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) 1.1 1.1 0.6 0.6 0.8 0.7 0.8 1.3 1.1 13 13 1.2
BEHEOESIE (ppm) 05| 05| 03| 04| 03| 05| 04| 07| 05| 08| 06| 06
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HEORTH AERE B B R R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
FIE™ FAE™E ABIEBAH (2 30 31 30 31 31 30 29 30 31 31 28 30
I E B (BRE)| 714 739 715| 733 | 738 | 711 | 715| 716| 734| 739 666 | 734
AEiE (ppm) 04| 04| 03| 03| 02| 03| 03| 05| 05| 05| 05| 05
8B fE A 20ppmZ iR R 1= [E1 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA 10ppmZTEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 10| 08 0.7 0.7 05 0.7 1.2 1.9 15 1.7 15 16
BESENRSIE (ppm) 06 06 04| 05 03 05 0.6 10| 07 0.9 0.7 0.7
=A™ & A HIEE S AR HaRAT ABIE B (/) 30 31 30 31 31 30 31 30 31 31 28 31
B TE B R (BeRE)| 712 734| 711 | 736 | 735| 706 | 735 712 | 734 | 733 | 664 | 731
AEHE (ppm) 04| 04| 03| 03| 02| 03| 03| 04| 04| 04| 04| 04
8EFREEA 20ppmZE B A 1= E1HK (B) 0 0 0 0 0 0 0 0 0 0 0 0
B EEA 10ppmEEZ 1= A q=h 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) 10 10 10 0.9 10 10 0.7 1.1 1.2 1.4 15 1.0
BEHEORSE (ppm) 06| 06 05| 05| 03| 04| 05| 07 0.7 0.6 0.6 0.6
AEMER |#EEFHE AMBIEBAH (| 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BRS)| 712 737| 714 734| 729 711 | 732| 714| 730| 733| 658 722
A¥HiE (ppm) 0.6 0.6 05 05 04| 05 05 0.6 0.6 0.7 0.6 0.7
8EFfH B A 20ppmZ iR R 1= [E1 3K (/) 0 0 0 0 0 0 0 0 0 0 0 0
B EEA 100pmEEZ =B E (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 15 1.4 1.2 1.3 1.3 1.3 1.2 14 16 20 1.9 15
BEHEOESE (ppm) 09| 09| 07| 07| 05| 07| 07 1.1 0.8 10| 09| 09
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HEORTH AERE B B R R

4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

RERT TR | H 3 B /MR ABIEBAH () 30 31 30 31 31 30 31 30 31 30 28 31
I E B (BRE)| 712 738| 710 737| 734| 709 | 738| 714| 735| 729 | 65| 732

AEyiE (ppm) 05| 04| 04| 04| 03| 04| 04| 05| 05| 06| 05| 05

8EFfEE A 20ppmZ iR 2 =B 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0

B FEH{EA 10ppmZEEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) 1.3 15 1.3 1.6 0.9 1.1 1.9 2.0 15 1.9 18 1.3

BESENCRSIE (ppm) 0.7 0.7 06 06 04| 06 0.7 10| 07 0.8 0.8 0.8

RERTEZSTR | AR/ AR AREBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I TE B (BERE)| 712 737| 714| 737 737| 711 | 736| 714| 736| 736| 658| 730

AFEiE (ppm) 0.5 0.5 04| 05 04| 04| 05 0.6 0.6 0.6 0.6 0.6

8EFREEA 20ppmZE B A 1= E1HK (B) 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 10ppmEEZ 1= A q=h 0 0 0 0 0 0 0 0 0 0 0 0

1R EEORSIE (ppm) 14 14 13 14 1.1 1.2 14 15 2.1 2.3 2.0 15

BEHEORSE (ppm) 0.7 08| 06 0.7 05| 06 0.7 10| 09 0.9 10| o8

KERTER |#HHF/NBDNFER AMBIEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BERE)| 713| 738 | 714 736 | 737 | 712| 737 | 714| 734| 737| 662 | 734

A¥HiE (ppm) 04| 04| 03 04| 03 04| 05 0.6 0.7 0.7 0.6 0.6

8EFfH B A 20ppmZ iR R 1= [E1 3K (/) 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 100pmEEZ =B E (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) 1.3 1.1 1.1 1.2 0.9 1.2 1.4 2.2 18 2.1 18 16

BEHEOESE (ppm) 07| 07| 06| 07| 04| 07| 07 1.1 0.9 12| 09| 09




(I)—EbRFED ARBIERR

HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

ABRTRER | SERER ABIEBAH (/) 30 31 30 31 30 30 31 30 31 31 28 31
I E B (B¥RE)| 718 | 741 | 714 736| 732 | 712| 735| 712| 735| 739 | 665 728
AEyiE (ppm) 06| 06| 06| 06| 04| 05| 06| 07| 08| 08| 08| 07
8EFfEE A 20ppmZ iR 2 =B 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA 10ppmZEEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 1.4 1.7 1.4 1.7 1.2 1.9 15 1.7 2.0 2.3 25 2.3
BESENCRSIE (ppm) 09 08 08 0.9 0.7 08 08 1.2 1.0 1.2 1.2 1.1

R IR ABIE B (B 30 31 30 31 31 23 - -
B TE B R (BeRE)| 716 740| 715 740| 739 | 549 - -
AEHiE (ppm) 05| 04 04| 04| 03 0.4 - -
8EFREE A 20ppmZE A 1= E1HK (B 0 0 0 0 0 0 - -
B EEA 10ppmEEZ 1= A (2 0 0 0 0 0 0 - -
1R EEORSIE (ppm) 1.2 1.1 10 1.1 0.9 0.9 - -
BEHEORSE (ppm) 0.7 0.8 0.7 06| 05| 05 - -

BEMmERK (ERAELE AMBEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BERS)| 714 | 740 | 714 740| 738 | 716| 737 | 715| 740 | 738| 667 | 740
A¥HiE (ppm) 0.5 04| 04| 04| 03 04| 04| 05 05 05 05 05
8EFfH B A 20ppmZ iR 2 1= [E1 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0
BESEA 100pmEEZ =B E (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 1.0 1.1 0.8 0.8 0.7 0.8 1.2 14 15 16 18 14
BEHEOESE (ppm) 06| 07| 05| 05| 04| o5 o6| 08| 07| 08| 08| 07
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HEORTH AERE B B R R

4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

R PIRAR ABIEBAH /1 |- - - - - - 31 29 31 31 28 31
I E B (B |- - - - - - 737| 708 | 740 739 669 | 738

A¥HiE (ppm) |- - - - - - 05 05 0.6 06 06 05

8EFfEE A 20ppmZ iR 2 1= [E1 3K /|- - - - - - 0 0 0 0 0 0

B FH{EA 10ppmZTBZ =B /) |- - - - - - 0 0 0 0 0 0

1FEEORSE (ppm) |- - - - - - 1.2 15 1.8 1.9 1.7 1.9

BESENORSIE (ppm) |- - - - - - 0.7 0.9 0.9 0.9 0.9 0.8

2t SR BHRAEBAH q=)) 30 31 30 31 31 30 31 30 31 31 28 31
B TE B (BeRE)| 714 739| 715 738 | 739 | 714| 738 715| 738 | 738 | 667 | 738

AEHiE (ppm) 04| 04| 03| 03| 02| 03| 04| 05| 05| 05| 05| 05

8EFREE A 20ppmZE A 1= E1HK (B 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 10ppmEEZ 1= A (/) 0 0 0 0 0 0 0 0 0 0 0 0

1R EEORSIE (ppm) 10 14| 09 0.9 06 0.9 1.1 15 13 15 1.2 1.2

BEMEORSE (ppm) 0.7 0.7 04| 05| 03| 05| 07 0.9 0.7 08| 07 0.7

WHTH W H 5 5 B A AMBIEBAH (| 29 31 30 31 31 30 31 30 31 31 28 31
I E B (BRS)| 707 | 739| 716 | 740| 739 | 716 | 739 | 716 | 740 | 739 | 668 | 738

A¥HiE (ppm) 0.7 0.6 0.6 0.6 05 0.6 0.6 0.7 0.6 0.7 0.6 0.7

8EFfH fE A 20ppmZ iR 2 = [E1 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 100pmEEZ =B E (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) 1.4 1.3 1.4 2.0 1.1 1.3 1.6 2.8 1.7 1.9 1.7 17

BEHEORESE (ppm) 09| 09| 08| 08| 07| 08| 08 12| 09 1.1 10| 09
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HEORTH AERE B B R R

4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

=Y S TR ABIEBAH (2 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BRE)| 716 740 714 739| 739 | 716| 737| 716| 739 | 739 | 668 | 740

AEiE (ppm) 04| 03| 03| 03| 02| 03| 03| 04| 04| 04| 04| 04

8B fE A 20ppmZ iR R 1= [E1 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0

B FEH{EA 10ppmZTEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) 0.9 038 0.6 0.6 05 0.7 08 1.0 1.1 1.3 14 14

BESENRSIE (ppm) 05 05 04| 05 03 05 05 0.7 0.6 0.7 0.6 0.7

=Y B’NE ARRIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
B TE B R (BeRE)| 718 742| 715 736 | 739 | 712| 741 | 718 | 741 | 741 | 668 | 742

AEHE (ppm) 03| 03| 03| 03| 02| 02| 03| 03| 03| 03| 03| o03

8EFREEA 20ppmZE B A 1= E1HK (B) 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 10ppmEEZ 1= A q=h 0 0 0 0 0 0 0 0 0 0 0 0

1R EEORSIE (ppm) 0.7 0.7 06 06 0.4 05 06 0.9 1.0 1.0 1.0 1.0

BEHEORSE (ppm) 05| 05| 04| 04| 03| 04| 04| 05| 05| 06 0.5 0.6

WA™ iR AMBIEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BRE)| 713| 736 | 711 735| 735 | 710| 733 | 709 | 733 | 735| 664 736

A¥HiE (ppm) 0.4 0.4 0.4 0.4 0.3 0.4 0.4 05 05 05 0.4 05

8EFfH B A 20ppmZ iR R 1= [E1 3K (/) 0 0 0 0 0 0 0 0 0 0 0 0

B EEA 100pmEEZ =B E (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) 1.0 1.1 14| 07 0.7 0.9 1.3 1.6 1.3 15 1.7 12

BEHEOESE (ppm) 06| 06| 05| 05| 04| 06| 06| 09| 07| 09| 07| 06
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HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
R RABRMRERERE LV — |[EDAIEBH (8 30 31 30 31 31 30 31 30 31 31 28 30
I E B (B¥RE)| 710 734 | 709 | 734| 732| 710| 734| 710| 735| 736 | 663 | 726
AEiE (ppm) 05| 04| 04| 04| 03| 04| 05| 05| 05| 05| 05| 05
8B E A 20ppmZ iR 2 - [E1 3K q=)) 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA 10ppmZTEZ =B (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) 1.1 1.1 0.9 08 0.7 0.9 1.3 15 18 18 2.1 16
BESENORSIE (ppm) 0.7 0.7 05 06 04| 06 0.7 1.1 0.8 0.9 10| 08
B T ESRueG ARRIEBH (/) 30 31 30 31 31 30 23 30 31 31 28 31
I B (BeRE)| 705 | 739| 715 733 | 735 712 | 588 | 711 | 735| 732 | 665 | 734
AEHiE (ppm) 11 06| o5 o5 03| 04| 05| 06| 07| 07| 06| 06
8EFREEA 20ppmZE B A 1= E1HK (B) 0 0 0 0 0 0 0 0 0 0 0 0
B EEA 10ppmEEZ 1= A q=h 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) 26 1.2 15 1.1 0.9 1.2 1.1 16 2.1 2.4 1.7 2.0
BEHEORSE (ppm) 2.1 08| 07 0.6 05| 07 0.7 1.0 1.0 10| 08| 09

- 270 -





